

Algebra II 4

- This Slideshow was developed to accompany the textbook
 - Larson Algebra 2
 - By Larson, R., Boswell, L., Kanold, T. D., & Stiff, L.
 - 2011 Holt McDougal
 - Some examples and diagrams are taken from the textbook.

Slides created by Richard Wright, Andrews Academy rwright@andrews.edu

















Vertex at $(1, 1) \rightarrow$ other points (-2, -8), (-1, -3), (0, 0), (2, 0), (3, -3)

Vertex at (-1.5, -1.5) → other points (-3, 3), (-2, -1), (-1, -1), (0, 3), (1, 11)



Minimum occurs at vertex: $x = -b/2a \rightarrow x = -16/(2 \cdot 4) = -2$ y = 4(-2)² + 16(-2) - 3 = -19 The minimum value is -19



Revenue is how much money comes in. Revenue = Price · Number sold $R = (20 - x)(150 + 25x) = 3000 + 500x - 150x - 25x^2$ $R = -25x^2 + 350x + 3000$ Maximum occurs at vertex x = -350/(2(-25)) = 7 $y = -25(7)^2 + 350(7) + 3000 = 4225$ The owner should drop the price \$7 making the revenue \$4225



HOMEWORK QUIZ

• 4.1 Homework Quiz





Vertex at (1, 3) → other points (2, 5), (0, 5), (3, 11), (-1, 11)





Vertex at $(1, -4) \rightarrow x$ -int at (3, 0) and (-1, 0)



This is in intercept form y = -16(t - 0)(t - 5)Thus it will be at zero height when either (t - 0) = 0 or (t - 5) = 0. $t - 5 = 0 \rightarrow t = 5$ seconds

Maximum height occurs at the vertex: intercepts are 0 and 5, so vertex is at t = 2.5 h(2.5) = -16(2.5)(2.5 - 5) = 100 feet





 $y = -(x - 2)(x - 7) \rightarrow y = -(x^2 - 7x - 2x + 14) \rightarrow y = -(x^2 - 9x + 14) \rightarrow y = -x^2 + 9x - 14$

 $\begin{array}{l} f(x) = -(x+2)^2 + 4 \rightarrow f(x) = -(x+2)(x+2) + 4 \rightarrow f(x) = -(x^2+2x+2x+4) + 4 \rightarrow f(x) = -(x^2+4x+4) + -(x$

HOMEWORK QUIZ

• 4.2 Homework Quiz



4.3 Solve $x^2 + bx + c = 0$ by Factoring

- Factoring trinomial
 - ax² + bx + c
- 1. Write two sets of parentheses ()()
- 2. Guess and Check
- 3. The Firsts multiply to make ax²
- 4. The Lasts multiply to make c
- 5. Check to make sure the Outers + Inners make bx



(x - 6)(x + 3)

Cannot be factored

(r + 9)(r - 7)



Difference of Squares: $x^2 - 9 = (x - 3)(x + 3)$

Perfect Squares: $w^2 - 18w + 81 = (w - 9)^2$



ANS: take each factor = 0 $3y - 5 = 0 \rightarrow 3y = 5 \rightarrow y = 5/3$ $2y + 7 = 0 \rightarrow 2y = -7 \rightarrow y = -7/2$



 $x^{2} - x - 42 = 0 \rightarrow (x - 7)(x + 6) = 0 \rightarrow$ $x - 7 = 0 \rightarrow x = 7$ $x + 6 = 0 \rightarrow x = -6$ Solutions are x = -6, 7

 $x^{2} - 8x + 16 = 0 \rightarrow (x - 4)(x - 4) = 0 \rightarrow$ $x - 4 = 0 \rightarrow x = 4$ Solutions are x = 4

4.3 Solve $x^2 + bx + c = 0$ by Factoring

- Finding Zeros
 - Zeros are the values of x when y = 0

≻Also called x-intercepts or roots

- When you find zeros make y = 0 and solve
- Find the zeros of y = x² 7x 30 by rewriting the function in intercept form.

 $y = x^2 - 7x - 30 \Rightarrow y = (x - 10)(x + 3)$ Zeros are -3, 10

4.3 Solve $x^2 + bx + c = 0$ by Factoring

 255 #1-21 every other odd, 27-59 every other odd, 65 + 4 choice = 20

HOMEWORK QUIZ

• 4.3 Homework Quiz

4.4 Solve $ax^2 + bx + c = 0$ by Factoring

- Very similar to yesterday's lesson
- Two differences
 - Factor monomial first
 - Make a work just like c

4.4 Solve $ax^2 + bx + c = 0$ by Factoring

- Monomial First
 - Factor out any common terms first, then factor what's left
- $14x^2 + 2x 12$
- $3x^2 18x$

 $\rightarrow 2(7x^2 + x - 6) \rightarrow 2(7x - 6)(x + 1)$

 \rightarrow 3x(x - 6)



 $3(4x^2 + x + 1)$

 $2(x^2 - 16) \rightarrow 2(x - 4)(x + 4)$



ANS: $(3t-2)^2 = 0 \rightarrow 3t - 2 = 0 \rightarrow 3t = 2 \rightarrow t = 2/3$ ANS: Put in standard form $x^2 - 3x - 4 = 0$ (x - 4)(x + 1) = 0 $x - 4 = 0 \rightarrow x = 4$ $x + 1 = 0 \rightarrow x = -1$

4.4 Solve $ax^2 + bx + c = 0$ by Factoring

 You are designing a garden. You want the garden to be made up of a rectangular flower bed surrounded by a border of uniform width to be covered with decorative stones. You have decided that the flower bed will be 22 feet by 15 feet, and your budget will allow for enough stone to cover 120 square feet. What should be the width of the border?



Outer rectangle area – inner rectangle area = 120 (2x + 22)(2x + 15) - (22)(15) = 120 $4x^2 + 30x + 44x + 330 - 330 = 120$ $4x^2 + 74x = 120$ $4x^2 + 74x - 120 = 0$ Divide by 2: $2x^2 + 37x - 60 = 0$ Factor: (2x - 3)(x + 20) = 0 $2x - 3 = 0 \rightarrow 2x = 3 \rightarrow x = 3/2$ $x + 20 = 0 \rightarrow x = -20$ can't use negative numbers Border is 3/2 feet or 1.5 feet or 18 inches
4.4 SOLVE $ax^2 + bx + c = 0$ BY FACTORING • 263 #3-27 every other odd, 31-47 odd, 51, 55, 59, 65 + 5 choice = 25

HOMEWORK QUIZ

• 4.4 Homework Quiz



v36 = **v**9**v**4



The term radical comes from Latin "radix" which means "root". Other terms with same root: "Radish", "eradicate" (pull out be roots)







ANS: $-5x^2 = -12 \rightarrow x^2 = 12/5 \rightarrow x = \pm \sqrt{(12/5)} \rightarrow x = \pm \sqrt{12}/\sqrt{5} \rightarrow x = \pm 2\sqrt{3}/\sqrt{5}/\sqrt{5} \rightarrow x = \pm 2\sqrt{15}/5$ ANS: $(x-2)^2 = 7 \rightarrow x - 2 = \pm \sqrt{7} \rightarrow x = 2 \pm \sqrt{7}$

HOMEWORK QUIZ

• 4.5 Homework Quiz

4.6 PERFORM OPERATIONS WITH COMPLEX NUMBERS

- When we were young we learned to count.
- Then as we got older we learned to operate with combining those counting numbers.
- Next we learned about negative numbers and fractions. With this came more rules for the operations.
- Finally we are going to learn about complex numbers and the rules for dealing with them.









2 + 5i -1 + 4i -1



 $-3i - i^2 = 1 - 3i$ $-12 - 4i - 18i - 6i^2 = -6 - 22i$ $1 - 2i + 2i - 4i^2 = 5$





(-5-9i)/2



 $\sqrt{(2^2 + (-4)^2)} = \sqrt{(4 + 16)} = \sqrt{20} = 2\sqrt{5}$



We'll find out about z later



Black is part of the set Color indicates how many iterations were required before z became larger than V5


























































 $x^{2} - 8 = -36$ $x^{2} = -28$ $x = \pm \sqrt{-28} = \pm i\sqrt{28} = \pm i\sqrt{4\sqrt{7}} = \pm 2i\sqrt{7}$

• 4.6 Homework Quiz

•
$$(x + k)^2 = x^2 + 2kx + k^2$$

=(x + 3)(x + 3)= x² + 2(3x) + 32 = x² + 6x + 9



you have to add $(8/2)^2 = 42 = 16$ to get a perfect square or $(x + 4)^2$





ANS: $2x^2 - 11x = -12$ $x^2 - 11/2 = -6$ $x^2 - 11/2 = -6 + (-11/2/2)^2 \rightarrow (-11/2/2)^2 = (-11/4)^2 = 121/16$ $(x - 11/4)^2 = 25/16$ $x - 11/4 = \pm 5/4$ $x = 11/4 \pm 5/4 = (11\pm 5)/4 = 4, 3/2$

4.7 COMPLETE THE SQUARE The area of the rectangle is 56. Find the value of x.

2x + 3

4x

4x(2x + 3) = 56 $8x^{2} + 12x = 56$ $x^{2} + 3/2 x = 7$ $x^{2} + 3/2 x + (3/4)^{2} = 7 + 9/16$ $(x + \frac{3}{4})^{2} = 121/16$ $x + \frac{3}{4} = \pm \sqrt{121/16}$ $x + \frac{3}{4} = \pm 11/4$ $x = -3/4 \pm 11/4$ x = 8/4 = 2 and 14/4 = 7/2

4.7 COMPLETE THE SQUARE

- Writing quadratic functions in Vertex Form
- y = a(x h)² + k
 - (h, k) is the vertex
- 1. Start with standard form
- 2. Group the terms with the x
- Factor out any number in front of the x²
- Add (b/2)² to both sides (inside the group on the right)
- 5. Rewrite as a perfect square
- 6. Subtract to get the y by itself

- 1. $y = 2x^2 + 12x + 16$
- 2. $y = (2x^2 + 12x) + 16$
- 3. $y = 2(x^2 + 6x) + 16$
- 4. $y + 2(9) = 2(x^2 + 6x + 9) + 16$
- 5. $y + 18 = 2(x + 3)^2 + 16$
- 6. $y = 2(x + 3)^2 2$
 - Vertex is at (-3, -2)
 - -2 is the minimum for this function
 - Find the max or min by completing the square to find the vertex



• 4.7 Homework Quiz



4.8 USE THE QUADRATIC FORMULA AND THE
DISCRIMINANT
• Solve
$$ax^2 + bx + c = 0$$

• $ax^2 + bx = -c$
• $x^2 + \frac{b}{a}x = -\frac{c}{a}$
• $x^2 + \frac{b}{a}x + \left(\frac{b}{2a}\right)^2 = \left(\frac{b}{2a}\right)^2 - \frac{c}{a}$
• $x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}}$
• $x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}}$
• $x + \frac{b}{2a} = \pm \sqrt{\frac{b^2 - 4ac}{4a^2}}$
• $x = -\frac{b}{2a} \pm \frac{\sqrt{b^2 - 4ac}}{2a}$

 $2x^2 + 6x - 4 = 0$

 $ax^{2} + bx + c = 0$ $x^2 + 3x - 2 = 0$ Divide by 2 to get a = 1 $x^{2} + (b/a)x +$ (c/a) = 0 $x^2 + 3x = 2$ Add two to get x's by self $x^{2} + (b/a)x = -$ (c/a) $x^{2} + 3x + (3/2)^{2} = 2 + (3/2)^{2}$ Add the square of half of middle to get perfect square $x^{2} + (b/a)x +$ $(b/2a)^2 = -(c/a) + (b/2a)^2$ $(x + 3/2)^2 = 2 + 9/4$ Factor left $(x + (b/2a))^2$ $= -c/a + b^2/4a^2$ $x + 3/2 = \pm \sqrt{(17/4)}$ Square root $x + (b/2a) = \pm \sqrt{((-2a)^2 + b^2)^2}$ $4ac+b^{2})/(4a^{2}))$ $x = -3/2 \pm \sqrt{(17/4)}$ $x = -b/2a \pm \sqrt{((b^2-4ac)/(4a^2))}$ Subtract $x = (-3 \pm \sqrt{17})/2$ $x = (-b \pm \sqrt{b^2})$ Simplify 4ac))/2a

4.8 Use the Quadratic Formula and the Discriminant

•
$$x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

- This is called the quadratic formula and always works for quadratic equations.
- It even finds the complex solutions.
- The part under the square root, discriminant, tells you what kind of solutions you are going to have.
 - $b^2 4ac > 0 \rightarrow two distinct real solutions$
 - $b^2 4ac = 0 \rightarrow exactly one real solution (a double solution)$
 - $b^2 4ac < 0 \rightarrow two distinct imaginary solutions$



 $3^2 - 4(5)(-4) = 9 + 80 = 89 \rightarrow$ two distinct real roots

Put in standard form $\rightarrow 5x^2 + 3x - 4 = 0$ Quadratic formula $\rightarrow x = (-3\pm\sqrt{3^2-4(5)(-4)})/(2(5))$ Simplify $\rightarrow (-3\pm\sqrt{89})/10$



$$x = \frac{4x^2 - 6x + 3 = 0}{\frac{6 \pm \sqrt{(-6)^2 - 4(4)(3)}}{2(4)}}$$
$$x = \frac{\frac{6 \pm \sqrt{36 - 48}}{8}}{\frac{6 \pm \sqrt{-12}}{8}}$$
$$x = \frac{\frac{6 \pm 2\sqrt{3}i}{8}}{\frac{6 \pm 2\sqrt{3}i}{8}}$$
$$x = \frac{3 \pm \sqrt{3}i}{4} \text{ (reduce top and bottom by 2)}$$

• 4.8 Homework Quiz



4.9 GRAPH AND SOLVE QUADRATIC

Graph inequalities

- Graph the quadratic as if it were an equation
 - Find the vertex $\left(-\frac{b}{2a}\right)$
 - Make a table of values choosing points on both sides of the vertex
 - Graph the points and connect the dots

4.9 GRAPH AND SOLVE QUADRATIC

INEQUALITIES

- Dotted line or solid line
- Shade
 - Pick a test point (not on the line)
 - Try plugging it in the inequality
 - If you get a true statement shade that side of the line
 - If you get a false statement shade the other side of the line.



ANS: Vertex at x = 10/2 = 5Table of values to include $x = \{1, 2, 3, 4, 5, 6, 7, 8, 9\}$ Pick (0, 0) as test point $\rightarrow 0 \ge 25$ false shade other side of line.





 $2x^{2} + 4x - 6 \le 0$ when $-3 \le x \le 1$ $2x^{2} + 4x - 6 \ge 0$ when $x \le -3$ or $x \ge 1$



• 4.9 Homework Quiz





ANS: $y = a(x + 2)^2 + 1 \rightarrow -1 = a(1 + 2)^2 + 1 \rightarrow -1 = 9a + 1 \rightarrow -2 = 9a \rightarrow a = -2/9 \rightarrow y = -2/9 (x + 2)^2 + 1$


ANS: $y = a(x - 1)(x - 4) \rightarrow -6 = a(2 - 1)(2 - 4) \rightarrow -6 = a(1)(-2) \rightarrow a = 3 \rightarrow y = 3(x - 1)(x - 4)$

4.10 WRITE QUADRATIC FUNCTIONS AND MODELS

- Standard Form → any 3 points
 - Use one of the above two and simplify OR
 - Fill in the x and y of ax² + bx + c = y with each of the three points creating a system of three equations with the variables of a, b, and c
 - Solve the system
 - Write your equation



Use Cramer's rule $y = 3x^2 + 7x + 1$





HOMEWORK QUIZ

• 4.10 Homework Quiz

